Forslag til facitliste problemdel sygesæt januar 2014.

	
	AEU   Problemdel sygesæt januar 2014
	

	Opgave.
	Udregning.
	Resultat.
	Point.

	1.
	0,78 · 2175600
	=  1696968 km2
	3

	2.
	2175600 / 43098
	=  50,48 gange
	3

	3.
	
[image: image1.wmf]9

1

· π · 2400 · 950 · 3,4
	=  2705958,472 km3
	4

	4.
	20 · 8
	=  160 m
	4

	5.
	( 160 / 180 ) · 100
	= 88,89 %
	4

	6.
	Aflæst på figur
	=  -10 grader
	3

	7.
	10 + 2
	=  12 grader
	4

	8.
	 2 - ((1200/100) · 0,5 )
	=  -4 grader
	4

	9.
	Se millimeterpapir
	=  
	4

	10.
	y = -200 · x ( -200 · -12,5
	=  2500 m
	4

	11.
	( 130 – 32 ) · 
[image: image2.wmf]9

5


	=  54,44 fahrenheit
	4

	12.
	0 = (F - 32) · 
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	=> F = 32
	4

	13.
	r = 
[image: image4.wmf]2

55

,

56

×

p


	=  3 cm
	4

	14.
	Se millimeterpapir
	=  
	6

	15.
	2 · 15 · π
	=  94,25 cm
	4

	16.
	√ ( 502 – 402 ) 
	=  30 m
	4

	17.
	 847 + 30 + 108 + 209 + 21
	= 1215 TJ
	4

	18.
	1215 / 5
	= 243 TJ
	4

	19.
	Se millimeterpapir
	= 
	5

	20.
	( 21 / 3) · 12
	= 84 TJ
	4
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